Algebra 2

Completing the Square and Vertex Form
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Find the value that completes the square and then rewrite as a perfect square.
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Solve each equation by completing the square.

9) x*-14x -82=-10
{18, -4f

11) n* -2n-77=-6

{1+6+2,1-6/2]

13) 2x* - 16x-57=9
{11, -3}

15) 8x* + 16x - 21=-8

4442 —4-a2
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4) r* = 20r+

100; (- 10)
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961 ( 31)2
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10) n* + 181 + 39 = -4

{—9+ \/g, -9 - '\/g]

12) p*+20p-1=-2

{-10+3+/11, -10 - 3+/11}

14) 10m* -20m—-21=9

3. -1}

16) 9m* + 18m — 26 = -10

Period



17) v* +7v-87=-9
{6: _]3}

19) a®* -17a-75=-5

17 + V569 17 - \/569}

2 2

21) 6m* +3m-50=8

12 2

23) 10m* —4m -29=3

8
-3
S

-3 ++V1401 -3-+~1401
] 12

18) a*+3a-57=6

-3+3\/2_~-3—3\/§}

2 2

20) n”* +n-54=6

-1+vV241 -1-~N241

2 : 2

22) 5x* -7x-44=8

5

24) 3x* +3x-12=6
2, -3}

Use the information provided to write the vertex form equation of each parabola.

25) y=3x> + 54x + 247

y=3(x+9)2+4

27) y=—x*+2x-9

y=—(x—1)2—8

29) y=x>+2x-4

y=(x+l)2—5

26) y=3x*-30x+70

yuHx=5)*~5

28) y=x%-12x+37

}’=(x—6)2+1

30) y=x*-20x+92

y=(x-10)*-8



